. THEY'RE = THEY ARE

. THEIR = SHOWS POSSESSION

. THERE = SPECIFIES A LOCATION
. YOU'RE = YOU ARE

. YOUR = SHOWS POSSESSION
ATS=1T IS

. ITS = SHOWS POSSESSION

. WE'RE = WE ARE

. WERE = PAST TENSE OF 'ARE'
10. WHERE = SPECIFIES A LOCATION
11. LOOSE = NOT FIXED IN PLACE
12. LOSE = CEASE TO KEEP

13. AFFECT = ACTION

14. EFFECT = A RESULT

15. COULD'VE = COULD HAVE

OO0 AWK =

Literacy




Working at the expected standard

The pupil can write for a range of purposes and audiences (including writing a
short story):

creating atmosphere, and integrating dialogue to convey character and advance
the action

selecting vocabulary and grammatical structures that reflect the level of formality
required mostly correctly

using a range of cohesive devices*, including adverbials, within and across
sentences and paragraphs

using passive and modal verbs mostly appropriately

using a wide range of clause structures, sometimes varying their position within
the sentence

using adverbs, preposition phrases and expanded noun phrases effectively to add
detail, qualification and precision

using inverted commas, commas for clarity, and punctuation for parenthesis mostly
correctly, and making some correct use of semi-colons, dashes, colons and hyphens

spelling most words correctly* (years 5 and 6)

maintaining legibility, fluency and speed in handwriting through choosing whether
or not to join specific letters.



What do we mean by "Greater Depth"?

For children who have completed the key stage 2 curriculum in writing, the
teacher assessment will say one of 3 things:

e your child is working towards the expected standard and needs some support
to meet national expectations

e your child is working at the expected standard for their age

e your child is working at greater depth within the expected standard and has a
strong understanding of the curriculum.

= 2016 teacher assessment exemplification:
=== KS2 English writing, working at greater

T Fe e

L depth. without annotation

L U -

Ref: ISBN 978-1-78644-111-9, STA/16/7521/e
PDF, 12.1MB, 18 pages

I'ss'



Working at greater depth within the expected standard

The pupil can write for a range of purposes and audiences:
* managing shifts between levels of formality through selecting vocabulary precisely

and by manipulating grammatical structures
* selecting verb forms for meaning and effect

e using the full range of punctuation taught at key stage 2, including colons and
semi-colons to mark the boundary between independent clauses, mostly correctly.

[No additional requirements for spelling or handwriting.]

End of key stage 2 statutory assessment - Working at the expected standard

Name: Frankie A B
The pupil can write for a range of purposes and audiences A D AL
(including writing a short story) Narratve i -
* creating atmosphere, and integrating dialogue to convey character and i
advance tha action
* selecting vocabulary and grammatical structures that reliect the level of o 7
formality required mostly corractly
* using & range of cohesive devices™, including adverbials, within and across 7 v
sentences and paragraphs
* using passive and modal verbs mostly appropriazcly v o
* using & wide range of clause svuctures, sometimes varying theor positon Ve 7
within the sentence
* using adverbs, preposition phrases and expanded noun phrases effecuvely e I
to add detail, qualification and precision
* using mostly carractly imvartad commas >4
commas= for clarity % 3 7
punctuation far paranthasis 7
* making some correct use of semi-colons Fr 4 T Bt
dashes v =
colons
hyphens v
* zpalling most words corractly*® (year S and &) PP < ®
* mantaning legibility, fluency and speed in handwriting through choosing 87 7
whetheor or not to join specific lotters.
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Times Tables -

~

triangle
r
@ square .

B NN AN -
X X X X X X Xx
e R

LI B B B )

B NO WA wWN -

A
PRECISION

1 x10 « 10 1 x12en

2 x10 =20 2 x12 -2

3 x10 = 30 3 x12 =3

@ 4 x10 » 40 4 %12 » 48
ocfa on 5 x10 =50 5 %12 =60
g 6 x 10 = 60 6 x 12 =72

7 x10 =70 7 X2 e84

é 8 x10 =80 5 x12 =9

9 x10 = 9 9 x 12 = 108

10 x 10 = Y00 10 x 12 » 120

" x 10 = 110 n x 12 =12

12 x 10 = 20 12 x 12 = W4

—— aame




A pupil really understands a mathematical concept,

idea or technique if he or she can: M aSte ry

describe it in his or her own words;

represent it in a variety of ways (e.g. using concrete
materials, pictures and symbols - the CPA approach)®

explain it to someone else;

make up his or her own examples (and non-
examples) of it;

see connections between it and other facts or ideas;
recognise it in new situations and contexts;

make use of it in various ways, including in new
situations.’

Developing mastery with greater depth is characterised

t by pupils’ ability to:
re a e r solve problems of greater complexity (i.e. where

the approach is not immediately obvious),
demonstrating creativity and imagination;

D e t I l independently explore and investigate mathematical
contexts and structures, communicate results

clearly and systematically explain and generalise the
mathematics.



Fluency

* Fluency is at the centre of the
updated National Curriculum
for maths. In this context,
“fluency” refers to knowing
key mathematical facts and
methods and recalling these
efficiently. ... It is widely
acknowledged that practice, drill
and memorisation are essential
if students are to become
mathematically fluent.

22

1,320 + 12 =

1 mark

23

Show

method

2 marks




Reasoning o
(21 ] 5542 + 17 = 326

o Reasoning enabl Explain how you can use this fact to find the answer to 18 x 326
es children to
make use of all
their .
other mathemati A\
cal skills and :f )
SO reasoning cou |
Id be thought of
as the 'glue’ N S
which helps o o o T
mathematics

makes sense. complex reasoning

1 mark



Problem Solving

Chocolate Orange

* problem solving
should be at the
heart of all our
maths teaching - it
shouldn't be an
optional extra for
Friday afternoons.
Problem solving is
the essence of
being a
mathematician.
Isn't that what
we're trying to
help our children
to be?

n Two friends buy some chocolate bars.

Each bar cost £1.18

N/

There is a special offer on.

Buy one bar, get a
second half price

They buy 3 bars and split the cost equally.

How much do they each pay?

1
:n A shop owner buys oranges in boxes of 5

She buys 8 boxes of oranges.
The cost of each box is £240

The owner sells the oranges separately.

She sells them for 70 pence each.

By the end of the week she sells % of the

oranges.

How much profit has she made?



